H0 – This is the Hubble constant.  Basically, it’s a measure of the current (local) rate of expansion of the universe.  These authors actually assume a rather high value for this; they assume 100, while around 70 is the norm (this is a very difficult value to measure, hence the discrepancies).
q0 – H0 has not always been the same value.  q0 is the deceleration parameter, which says with a value of ½ says that the rate of expansion is slowing.

Basically, the two values above assign a sense of scale to the universe.  Astronomers need to be able to relate brightness to distance, and setting the values of H0 and q0 allow them to do this.

h-1 Mpc – This should be read as just “Mpc,” or Megaparsecs, where 1 parsec is equal to about 3 light-years.  h-1 is basically just 1/H0.  This is just a precautionary term; if the accepted value of H0 changes, then their distances will scale appropriately.


-For a sense of scale, the Milky Way is about 30 kpc in diameter.  The nearest star (Proxima Centauri) is about 1 pc away.
z – This is the measure of redshift of an object.  The higher the z-value, the greater the redshift and the farther away the object is.  Galaxies in the same cluster should have approximately the same redshift.

-For a sense of scale, a z-value of 1 corresponds to about 4 x 109 parsecs.  Below z=1, we can assume that this relationship scales linearly.
Magnitude system – Just know that higher magnitudes correspond to lower brightnesses.  This seems backwards, but that’s how it is.  Astronomy sucks like that sometimes.  Also, note that these are not the absolute magnitudes, which measure the brightness at a distance of 1 pc; these are apparent magnitudes, which measure the brightness from Earth.  Similar galaxies in the same cluster should have similar magnitudes, although there is a large range in magnitude between galaxy types.

V4 – I don’t know what the “4” is, but the “V” means that the magnitudes were measured in the visible part of the spectrum.
α, δ, J2000 – α and δ are the right-ascension and declination, respectively, of an object on the sky.  Just think of these as coordinates on a spherical shell, since we can’t infer distance from position.  These values change over time for a given object for a variety of reasons, so J2000 just says take the positions as of the year 2000.
Poisson distribution – This is analogous to the Gaussian distribution, but for discrete (read: countable) events.  The Poissonian is undefined for negative numbers, as we can’t have a negative number of occurrences of an event.  Look it up on Wikipedia if you want an actual definition.
